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R3 R2 J24:3 R3 R2 J5d 1 R3 R2 Jad 1 R3 R2 Jad 1
&it 1,666 1,460 206 1,533 1,369 164 8212 8,445 -233 7,579 7871 -292
2% 1,202 1,043 159 1,100 987 113 5,721 5,982 -261 5,306 5,600 -294
BB T 99 88 11 92 84 8 506 542 -36 478 534 -56
—fRas 204 179 25 192 168 24 1,090 1,069 21 1,010 997 13
Z Dt 161 150 11 149 130 19 895 852 43 785 740 45
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&&t 3 11 -8 2 7 -5 42 43 -1 30 24 6
NKEY 1 -1 0 0 1 1 0 3 0 3
REBEH 2 6 -4 2 5 -3 23 22 1 16 15 1
KEEI 0 0 1 2 -1 1 2 -1
HICk DB 0 0 1 -1 0 0
BYMEICKDEEW 0 0 3 4 -1 2 2 0
HARUVERER 0 0 1 3 -2 0 1 -1
Z D4t 1 4 -3 0 2 -2 13 10 3 8 4 4
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